80!_4"

76'-8" PAY LIMIT
9 SPACES @ 8'-7/8" = 72'-8"
2311 1/2" - 3111 1/2" - 24'-4"
1/2 1/2
Fx. JT. Fx. JT.
Expansion [ 1 [ [ [ 1 [ [ [ [T [ 1 [ Expansion
Joint [ | I ] Joint
[ 1 [ [ [ 1 [ [ [ [ [ 1 [
I L L L L L L L L L L L L L L L L L L L L
| — |«—1' TYP.
2111 1/2" NORTH RAILING FACING NORTH 504" |
L} "
—— 110 (SOUTH RAILING SIMILAR) 1'-10"
<—3'_1 0"—— 3!_1 0" |
BILL OF MATERIAL
aTy DESCRIPTION ASTM DESIGNATION
20 |W6x25, THREE RAIL POST @ 2'-9° OA ON 1 1/4x10x1'-2” B.P. |A572 Gr. 50
2 |HSS 3" X 5* X 1/4" RAIL e 21'-11 1/2* AS00 Gr. B
2 |HSS 3’ X 5 X 174" RAIL e 31'-11 1/2* AS00 Gr. B
2 [HSS 3’ X 5 X 1/74" RAIL e 22'-4' AS00 Gr. B
4 |HSS 6’ X 6" X 3/16” RAIL e 23'-11 1/2* AS00 Gr. B
4 |HSS 6" X 6” X 3/16" RAIL @ 31'-11 1/2* AS00 Gr. B
4 |HSS 6 X 6” X 3/16” RAIL @ 24'-4 AS00 Gr. B
e 4 [2-1/8" X 4-1/4" FIX. SPLICE BAR @ 2'-3” AS72 Gr. S0
oo o 8 |HSS 5" X S5 X S5/16" FIX. SPLICE TUBE e 2'-3” AS00 Gr. B, AS72 Gr. S0
1'-2" R. Klinefelter J. Salvatori 20 [3/8° X 10° X 14 ANCHOR PLATES (END POST) AS572 Gr. 50
10" 20 [1/8” X 10 X 14" FABRIC PAD AASHTO M251
A4 80 |# 1’ X 13" ANCHOR STUDS, W/ 2 1/4* THD. EACH END A449 Gr. 1, CLASS 88
14 "
o 7 February 14! 2013 160 |¢ 1 HEAVY HEX NUTS & FLAT WASHERS AS63 & F436
| | 12T 77 X 80 |# 1° HEX JAM NUTS A563
2" 4} > Approved 80 _|# 7/8° X 8° ROUND HEAD BOLT, NUT, SG. WASHER, L.W. A449, AS63, F436, ASME BIB2L1
I . & & K. Hiqai 02/19/13 20 [# 3/4° X 8° HEX BOLT, NUT, (@ F.W.,, & LW. A325, AS63, F436, & ASME Bl8.2L1
g" g - F1ggns 20 |8 3/4' X 2-3/4" HEX BOLT, NUT, 3 F.W. & LW. A325, AS63, F436, & ASME BIG.ALL
10" L 01 1/16" (4x) 10" _T _E__ _ 32 |[@ 3/4° X 7-1/2° HEX BOLT, NUT, & <@ F.V. A325, AS63, & F436
$. .$( A / SECTION A A 16 |[@ 3/4" X 4-1/2* HEX BOLT, NUT, & <2 F.W. A325, AS63, & F436
/+’ / 20 |9 5/8" X 1-1/2° HEX BOLT, NUT, & (@ F.W. A325, AS63, & F436
20 |L5° X 5’ X 5/8” RAILING ANGLE € 6’ A572 Gr. 50
1/8" FABRIC PAD 11/8" DIA. HOLE/ 7P WPS-3008 TBD [DELINEATORS (SUPPLIED BY FR. LAFAYETTED
FOR 1" DIA. ANCHOR |
STUD (TYP.) —@ OF POST
. GENERAL NOTES:
1'-8" . 1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF THE STANDARD 2"
3 1 1/2" SPECIFICATIONS.
| ~—6"—] . B , 2) PRIOR TO GALVANIZING THE ASSEMBLED POST, GRIND ALL EDGES TO A MINIMUM RADIUS OF 1/16". 4 'S l
—————— y ——— 3) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB). 21/2
p —-% B-L -— 4) RAIL TUBE EXPANSION JOINTS SHALL BE PROVIDED IN ANY RAIL BAY SPANNING THE END OF AN 1 172 i
_T 8" ‘ Jr _f INTEGRAL ABUTMENT BRIDGE AND AT ALL SUPER STRUCTURE EXPANSION JOINTS. EXPANSION JOINT "
2 —i{P & -— WIDTH SHALL BE 4"@ 68°F AND WILL BE ADJUSTED IN THE FIELD BY THE ENGINEER FOR OTHER 3 -
= o e—— —_— ¢ of Round TEMPERATURES. ]
3" _1 ol 37 Head Bolt with 5) RETROREFLECTIVE MATERIAL SHALL MEET THE REQUIREMENTS OF SUBSECTION 750.08 AND g — 3~
HSS 6" x 6" x 3/16" 6" 11/2" 16 ] Hex N SHALL BE A .063" ALUMINUM BACKING WHITE OR YELLOW REFLECTOR. WHITE IS TO BE INSTALLED ON |'5
_f ] ex Nut, THE DRIVERS RIGHT. FOR ONE WAY BRIDGES , YELLOW IS TO BE INSTALLED ON THE DRIVERS LEFT.
N [ _JI_:_F_J_ ______ | Washer and 6) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE ADJOINING g‘.. I Jy 51316
i SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES. o " .
W6 x 25 I 8 ol 1 \?Vprll":g Lock 7) THE MINIMUM DISTANCE FROM THE POST TO AN EXPANSION JOINT SHALL BE DETERMINED BY THE N~ Spring Lock Washer
| 2'-9 asher MINIMUM EDGE DISTANCE OF 5" FROM ANY ANCHOR STUD TO THE END OF THE SLAB, OR THE L (8X) 3/16" x 2" x 2" Washer
_____ I (Typical) EXPANSION JOINT RECESS POUR, IF ONE IS USED. L5x5x5/8"
7 N LT i 1 8) ALL POST SHALL BE SET NORMAL TO GRADE. THE MAXIMUM CENTER TO CENTER SPACING OF Hex Nut . "
Wy Qs 1A o , L5" x 5" x 5/ oo BRIDGE RAIL POST IS 8 3", RAILING ANGLE 7/80 1/8"—J— 112 1/8
HSS 5" x 3" x 1/4" ~ 1 8 Railing Angle \ 1 1/o" 9) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT ACCORDING TO A PROCEDURE -I|
\~ . r | PROVIDED BY THE FABRICATOR. “]]]]- ””l“l””
10 131" ——/@ —— -~  pm———— —_—l— 10) STD. SPLICE HOLES ONLY IN BRIDGE RAIL TUBES. REST TO BE DRILLED BY CUSTOMER. FIELD
'ﬂ{' -—}9 3" <LS 21— — -—% DRILLED HOLES TO BE COATED WITH AN APPROVED ZINC-RICH PAINT PRIOR TO INSTALLATION. -
12" x 1-1/4" x 10" = === = 11) THIS RAILING MEETS THE REQUIREMENTS FOR A TL-4 SERVICE LEVEL. | 3/g"
Base Plate AT 1 | —3'— 5"
16" FABRIC PA \ r12 Yl A _Iﬁl | _Iﬂl A[7 RAIL BENDING PROCEDURE! ——1/8"
D\| T 1] [m H 111 ] RADII GREATER THAN 16’ TO BE CURVED ON A TUBE BENDING ROUND HEAD BOLT
t Tl |'/_—(4)01"x13"ANCHORSTUDS I|I I|I MACHINE, RADII LESS THAN 16’ TO BE ‘PIE CUT” AND WELDED.
ol i i W/ 2 1/4" THD. EACH END & H | H o
2 (2) HEAVY HEX NUTS, ! ! ITEM #: 525.335 F.R. LAFAYETTE, P.O. 27399 | SHEET 1 OF 2
hen (1) JAM NUT h | h — 10—
L el ol A APPROVED BY. BRIDGE RAIL DETAILS SHEET
! | | /-@5 PROJECT: BRIGHTON, PROJECT # ER STP 034-3(25), MINOR ARTERIAL, BRIDGE # 84
L 2| TOWN OF BRIGHTON, ESSEX COUNTY, VT.
DF RAILING ANCHORAGE s — ¥ | a
8 —- -— DATE DESCRIPTION BY| R |NO.| DATE | DESCRIPTION |BY
1 |21 116" (4%) 12/2/12 [REVISED PER 12/26/12 EMAILIEP.| E [ 3 | 1/30/13 [KEN B 10 1 (/8" PR KMK. 1/28/1§ E.P)
¢ i -+ 1/9/13 [REVISED PER 1/9/13 EMAILEP.| V | |
ELEVATION I S CERTIFIED DRAWN E.P. 12/03/12
r%" ROADSIDE ELDERLEE.INC iZFABR\CATOR CHECKED | D.L. 12/03/12
A Ml M, ’ <IN -
SECTION STEEL BRIDGE RAILING T 0AKS CORNERS, NEW YORK 14578 APPROVED |
ANCHOR PLATE E—Mail: dlong@elderlee.com SCALE SCHEMATIC
- Tel:315—-789—-6670 Fax:315-789—-6615 DRAWING NO. F.R. LAFAYETTE BRIGHTON



JSalvatori
StructuresShopDrawing

JSalvatori
Text Box
X


SPLICE BAR - FIXED

41/4"X21/8"X2'3"
Galvanized Bar

5" X 3" X 1/4" Tube (Typ.)
r’%"

23"
m_O%"
S 1v_6%..
83
23‘——-—|
r e, & )
1 .‘_ /
odn T
8 \ oL
PLAN g
| |
[ HH ]
I I
ELEVATION

FIXED BAR SPLICE

Centerline of @ 7/8"
in Top & Bottom of

BRIDGE POST DETAIL

—(—t2
10— |—tod
4l o
L 21 %2 _ |
— o o 4 ° o} -
PLAN

FIXED BAR SPLICE ASSY.

(4) 3/4" Fully Threaded Bolts. 4 1/2" Long
(ASTM A325, TYPE 1) 2 Washers and a Heavy
Hex Nut on each Bolt. Nut to be Finger Tight

ELEVATION

and the First Thread below the nut to be
damaged A.O.B.E.. 4 Bolts at Each Splice.

1on
10"

7
L e
—OWLWJO

W Lo
O
/
1 1/8" DIA HI:ILE/ = WPS-3008
FOR 1 DIA. ANCHOR
STUD <TYP)

[0

—3"
11/2" 11/2"
e |

Nl —roi 412"
Il
- ar ” _I
I \rz)%" (x2)
+ I
20 1/2" /- (NG
ot 1 Wex25
27 3/4" 25 1/2" ”
Il 13w
I /-Gﬁ (x2)
. ol
I 15
I 15 (2)
Il
- o &
Il
Il
R I

10"

HSS 5" X 5" X 5/16"
Galvanized Tube

1 | AHOLESONG

o.3n
o on
1‘ s
- 163"
83"
2%..
1.
5 Typ— I——
4 ———y-——&
o _\____/|
@23"
WPS-3009

4" X 1/4" X 26" Fill Plate

(Top & Bottom)

WPS-3009
Typ.

4" x 1/4" x 26" Fill Plate

3ot

R. Klinefelter

ELEVATION
FIXED SPLICE TUBE

— {2
——10p—|[—10d—
1, 1,
- I | I —

F—_ NN R — N R R X _—q
L I o
| |
[ — A _J
PLAN
FIXED TUBE SPLICE ASSY.

(4) 3/4" Fully Threaded Bolts. 7 1/2" Long
(ASTM A325, TYPE 1) 2 Washers and a
Heavy Hex Nut on each Bolt. Nut to be Finger
Tight and the First Thread below the nut to be
damaged A.O.B.E.. 4 Bolts at Each Splice.

SPLICE TUBE - FIXED

ELEVATION
FIXED TUBE SPLICE ASSY.

F.R. LAFAYETTE, P.O. 27399 | SHEET 2 0F 2

ITEM #: 525.335
[

J. Salvatori

February 14, 2013

K. Higgins

Approved
02/19/13

f.

BRIDGE RAIL DETAILS SHEET

PROJECT: BRIGHTON, PROJECT # ER STP 034-3(25), MINOR ARTERIAL, BRIDGE # 84
TOWN OF BRIGHTON, ESSEX COUNTY, VT.

R[NO. DATE DESCRIPTION BY| R [NO.] DATE | DESCRIPTION  [BY]
E[ 1| 1%/1 [REVISED PER 12/26/12 EMAILEP. E | 3 | 1/30/13 [RENE 01 (/¥ R KUK 1/8/13 E.P)
v[ 2 [ 1/3/13 |REVISED PER 1/9/13 EMAIL[EP.| V | |
» CERTIFIED DRAWN E.P. 12/03/12
ELDERLEE.INC (FABRICATOR|| CHECKED | D.L. 12/03/12
2 . X Sy
0AKS CORNERS, NEW YORK 14578 APPROVED | -
E—Mail: dlong®@elderlee.com SCALE SCHEMATIC
Tel:315—789—6670 Fax:315—789—-6615 DRAWING NO. F.R. LAFAYETTE BRIGHTON



JSalvatori
StructuresShopDrawing

JSalvatori
Text Box
X


21-51/2"

32'- PAY LIMIT FOR TRANSITION - BRIDGE RAILING TO BOX BEAM GUIDE RAIL

20'-9 3/4"

HSS 6"x6"x3/16" Rail
@ 17'11-1/2"

HSS 6"x6"x3/16" Kickback
@ 9'0" w/End Cap

|
n ., . e A
° [ | i ° o
o L Y T ey —
2"9" J? i [ | — 17 npn
1 I | Iy o ° " B
wen L B rall
s - — S 5,481 A, 0 1 S 1 = S = g =
17 9 0 i ) o | | ] —
L |
. [}
Last Bridge Post X' "c"
r .l r 1 r .l r al | i B | | i B | | B | I
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1. ’ L . v L . 0 L Il '| L 1. ’ 'l L 1. ’ 'l L 1. 'l 7 . 'l @ L _/
" L} n
W6x9 Post @ 7'0" w/ Spade S3x5.7 Post @ 7'-0" w/Spade S’o‘é;Sé? gj'ogt @63 Vﬂ/gpgfie 83x5.§ Pc:jst @ 3-8
. An H A" - = -
@ 2'-0" Spacing = 6'-0" (3ea.) @ 2'-0" Spacing = 6-0 pacing w/Spade
& 5 o— 2
HSS 6"x8"x1/4" Tube
I Blockout @ 6"
o °
woar ] 1. I I I I I I I I I I
- )r oo oo [+ <o oo | \ / / NG ® @, / +
[
4r— = —-—1/2"
o °
i JT L I I I < I I
[
BILL OF MATERIALS, EACH OF <4) CORNERS
[ITEM #] QTY. DESCRIPTION MATERIAL (ASTM)
2 €[5 1-POST, PUNCH &, & 20° W/SPD € 63° LG AS72 Gr. 50
3 2[5 I-END POST W/SPD € 3-8 LG AS72 Gr. 50 ) )
2 7 |Wex9 POST @ 7' W/SPD & 5/8° HOLES A572 Gr. 50 R. Klinefelter J. Salvatori
5 7 [3° 1-POST, PUNCH & & 20°, W/8X32° SPADE €7’ AS72 Gr. 50
3 T |ASS 3X5' BTM TRANS RAIL W/5-0° KB, EXP END A500 Gr. B February 14, 2013
7 T [FSS 5X5 TUBE SPLICE @27° LG W/ 174’ SHINS AS00 Gr. B 7 A572 Gr 50 AS NOTED
I[= 2 |HSS S5x5 EXP TUBE SPLICE @ 36° LG W/ 1/4’ SHIMS AS500 Gr. B / A572 Gr 50 Approved
"Gren 5 T _[BR EXP _BAR SPLICE 2-1/6" X 4-1/4° © 36" (G AS72 Gr. 50 Lol
- 10 16 |REG BB SHELF ANGLES € 4-1/2° AS72_Gr. 50 K. Higgins 02/19/13
iy T |DWY BB SHELF ANGLES @ 4-1/2” AS72 Gr. 50
2 T [ASS 5X5 DBL BEND TUBE SPL @ 28° LG A500 Gr. B 7 A572 Gr 50
3 5 [ASS 6X8’ TRANS. TUBE B/0 € 6" LG AS00 Gr. B ITEM #:525.335 F.R. LAFAYETTE, P.O. 27399 | SHEET 1 OF 4
14 3__|HSS 6X8° TRANS. TUBE B/0 € 37 LG AS00 Gr. B
15 T__[iSS 6X6' BB € 9'-0° KICKBACK, W/ CAP AS00 Gr. B /7 A36 .
s b e e e Vo s APPROVED BY: GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET
17 1 _|ASS 6X6’ BB TOP TRANS € 20'-9 3/4° LG W/EXP END AS00 Gr. B PROJECT: BRIGHTON, PROJECT # ER STP 034-3(25), MINOR ARTERIAL, BRIDGE # 84
18 1 HSS 6X6’ BB BTM TRANS @ 21'-5 1/2° LG W/EXP END AS00 Gr. B TOWN OF BRIGHTON, ESSEX COUNTY, VT.
HARDWARE NOTES 19 | 18 [3/8° X 7 172" BOLT, NUT, & 2 FW A307, AS63, F436
ITEM # FUNCTION 20 19 |1/2" x 1-1/2° BOLT, NUT, & FW A307, AS63, F436 R|NO. DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY]
19 |BOLT RAIL TO SHELF ANGLE (ITEM #10) 21 | 22 [i/2" x 1-172° BOLT, NUT, 2 FW & LW A307, A563, F436 E| 1 12/%6/12 |REVISED PER 12/26/12 EMAIL|EP.| E
20 BOLT SHELF ANGLE CITEM #'S 10 & 11> TO POST 22 4 [3/4* X 4-1/2° BOLT, NUT, 2 FW A325, AS63, F436 \Y; 1/9/13 |REVISED PER 1/9/13 EMAIL|EP.] V
21 |BOLT BLOCK-OUTS CITEM #S 13 & 14> 70 HEAVY POST 23 | 1z [3/4 X 7-1/2" BILT, NUT, 2 FW A32S, ASE3, F436 z B /37 12/03/12
25 |c4> PER SPLICE BAR (ITEM #9) 24 | 6 [3/4" X 8 CARR BOLT, NUT, FW & LV <= A307, AS63, F436 DRAWN EP.
23 |G PER SPLICE TUBING (ITEM #S 7 & © i s [ 2 [B4 XE BT \T. 2TV, & LV I A32S, AS63, F436 ELDERLEE,INC. Y CHECKED | D.L. 12/03/12
24 [BOLT RAIL CITEMS #'S 6,17, & 18 10 BLOCK-DUTS CITEM #'S 13 & 14) [WHERE FASTENED] - 0AKS CORNERS, NEW YORK 14578 APPROVED | . .
25 [BOLT DOUBLE BEND SPLICE TUBE CITEM #12) TO RAIL CITEM #18) & KICKBACK C(ITEM #15) & ITEM #1D 7/8" BOLT E—Mail: dlong@elderlee.com SCALE SCHEMATIC
Tel:315—789—6670 Faz:315—789—6615 DRAWING NO. F.R. LAFAYETTE BRIGHTON



JSalvatori
StructuresShopDrawing

JSalvatori
Text Box
AS NOTED

JSalvatori
Callout
7/8" BOLT


PLAN VIEW
=i
z :1/4“ X 8" X 32" SPADE

!
L

5/8" HOLES
(4) REQ'D

WPS 3040

N
174"/ 210

15"+1/8"

e ——

e e e e e e e e e

LN

CITEM # 55

1
_ri3

[~ T
\0 13/16" HOLE
(FOR GALV)

1/4" 23/8"
WPS 3040

1/4" ; 23/8"

WPS 3040

PLAN VIEW

|— 8" ——]

—t—a

1/4" X 8" X 24" SPADE

L | —'—l-
lgn

@i
—

b

35"
2 5/8" HOLES
(4) REQ'D

i
i
I
i
ih WPS 3040
I N
i i 174" 1/ 211
i/
-
IHl
FRONT

SPLICE PLATE

1,
_r'3

N\o 13/16° HOLE
CFOR GALV)

WPS 3040

CITEM # 25

&

% (=2

8

All Holes #13/16" (8ea.

t T
3/4’ Hex Nut Tack Welded A325 (4ea.

1/4" ; 23/8"

1/4" ; 23/8"

WPS 3040

PLAN VIEW
g —
-
T\M" X 8" X 24" SPADE

&l |

[eo][¢]

16"
N0 5/8" SLOTS
(2x)
I
k1)
Il
| | WPS 3040
(k1) R
| | 1/4" 1/ 2-11
I
k1)
| i
i i
!
CITEM # 3
FRONT
o
2._0%,,
1,_9‘1_‘..
1
163
e
1-3
3
113
)
843..
3,
3.
- 2Z |-
T
552%. 4 ¢ $ 4 ¢ ¢ $
!

#13/16* 4X>

ARV Y

©$3/4°-10 NC THREAD <4X>
AFTER GALVANIZING
ALTERNATE SPLICE PLATE

R. Klinefelter

February 14, 2013
Approved

K. Higgins

=

44"+

@kn

\0 13 /16" HOLE
(FOR GALV)

1/4" ; 23/8"

WPS 3040

1/4" 23/8"
WPS 3040

PLAN VIEW

—i=

I

4

1/4" X 8" X 24" SPADE

|_|

NS

-] —0—:-
-
Bl

B

I
1 i 3,
137 | | 167
(X 1)
i
1 4
25%-~ | T\@ 5/8
i i (6 REQD)
i

WPS 3040
N
174"/ 210
4
1-6"
C(ITEM # 4
FRONT

F.R. LAFAYETTE, P.O. 27399

1%
N Q\ T

4 [\-o 13 /16" HOLE

1

(FOR GALV)

/W6 X 91 BEAM

WPS 3040
1/4" 2

WPS 3040
1/4" 2

SIDE

| SHEET 2 oF 4

ITEM #: 525.335
[ ——

GUARD RAIL TO BRIDGE RAIL TRANSITION DETAILS SHEET

PROJECT: BRIGHTON, PROJECT # ER STP 034-3(25), MINOR ARTERIAL, BRIDGE # 84

TOWN OF BRIGHTON, ESSEX COUNTY, VT.

DATE DESCRIPTION

R [NO.

DATE DESCRIPTION BY]

12/26/12 [REVISED PER 12/26/12 EMAIL

<m=a

\4

1/9/13 [REVISED PER 1/9/13 EMAIL

QY O0AKS CORNERS, NEW YORK 14578

ELDERLEE,INC.

E—Mail: dlong@elderlee.com

Tel:315—789-6670 Fax:315—789-6615

= DRAWN EP. 12/03/12
]z%’é@ﬂ%% CHECKED [ D.L. 12/03/12
APPROVED | . .
SCALE | SCHEMATIC

DRAWING NO. F.R. LAFAYETTE BRIGHTON



JSalvatori
StructuresShopDrawing

JSalvatori
Text Box
X


BACK VIEW

I
o 0
f D-/ 1/72* HOLES
6" X 6" X 3/16” WELDE 7/8* HOLES (TOP & BOTTOMD ®7/8" HOLE
END CAP, W/CUT CORNERS %?TEIP & BOTTOM) 5 REQ'D (TOP & BOTTOM> .
i, 7 1T
L L N 3"
N ey . t
TOP VIEW K o =
9 | 2113 \
g 5113 102’
3 113
P 11113
J"_ !— T ‘|_3L 14113
7 b | _r 174113
\g 7/ T 12 =
(TOP & BOTTOMD (TOP & BOTTOMD
——\MITER @ 12.5° @ 5/8" HANGIN
HOLE FOR GALV
(ITEM # 15 (TOP & BOTTOMD CITEM # 16)
DRILL ©7/8 HOLE 1'x7* HOR. SLOT
ol 1/2* HOLES TOP+BOTTOM MITER CUT FOR /B oL/ TOP+BOTTOM
1ol
2 11¢ X4' SLDT TDP VIE\I\/ TDP"‘BDTTD! (RTEYQF:.I)] 91_01 KICKBACKS SHIM PLATES /\
& —| I— / TOP+BOTTOM / el2-1/2° WPS#3016 4°REQ. Gw/SLOD -
TyP>—— 1"x7* HOR. SLOT
_LI i } } } Y } } A\ s e Ve TOP+BOTTOM )
S NN — al
7-10" : 16 M 1 ) W
9-10" S I - 5 3/
11'-10"
14'-10" _|—_—_—_—|—_—_—_J_
17'-10" " ' "
215f | 1"— = / 1'-2
—5 3/4" ‘
1'-o" | B-U1VB-F
WPS#3007
" HOLES SIDE VIEW
5 FRONT+BACK (TYP.
2 REQ'D e
l |r ] HSS 5'x5'x5/16'—\ |_ —l
S | ! ' |
|
I
o CITEM # 12
810 CITEM # 18)
‘A’ - SEE PLAN FOR TURN BACK DISTANCE, SET ANGLE
ACCORDINGLY.
“B” — TURN DOWN ANGLE SET BY THE 9 MEASURMENT
AT THE END OF THE BOX BEAM,
97/8" HOLE
TOP+BOTTOM
1/2* HOLES 2 REQ'D
10 19 x4 SLOT J0P VIEW TOP+BOTTOM fQTEYg'];\ GENERAL NOTES:
TOP+BOTTOM )
= = re 1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF
D } ; } \ N N YN THE STANDARD SPECIFICATIONS.
' I_T 2) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB).
1o & 3) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE
710 i ADJOINING SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES.
10 4) BOX BEAM TUBE AND STEEL POST MATERIALS, DIMENSION SIZES AND NOTES SHALL
11100 — BE THE SAME AS THOSE OF THE BRIDGE RAIL, UNLESS OTHERWISE NOTED.
17-10"
2093 !
ITEM #:525.335 F.R. LAFAYETTE, P.O. 27399 | SHEET 3 OF 4
- e APPROVED BY: GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET
FRONTBACK ¢TYP.) PROJECT: BRIGHTON, PROJECT # ER STP 034-3(25), MINOR ARTERIAL, BRIDGE # 84
2 REQD TOWN OF BRIGHTON, ESSEX COUNTY, VT.
SIDE VIEW __| o - R[NO. | DATE DESCRIPTION BY| R [NO.] DATE DESCRIPTION  [BY|
. - , E[ 1 12/2/12 [REVISED PER 12/26/12 EMAILEP.| E
_ . R. Klinefelt J. Sal
| ° - !—“’2‘ Ll — v 2 1/9/13 |REVISED PER 1/9/13 EMAIL[EPR.| V
il February 14, 2013 ; — DRAWN | EpP. | 120312
] I y ELDERLEE,INC. ¢ )%%’5@5%% CHECKED | D.L. 12/03/12
I Approved 2 APPROVED
L) OAKS CORNERS, NEW YORK 14578 : -
310" CITEM # 17> K. Higgins 02/19/13 E-Mail: dlong®elderlee.com SCALE SCHEMATIC
Tel:315—789—-6670 Fax:315-789—6615 DRAWING NO. F.R. LAFAYETTE BRIGHTON



JSalvatori
StructuresShopDrawing

JSalvatori
Text Box
X


SPLICE BAR - EXPANSION

3 Set @ 4" @ 68° Galvanized Tube 10 1 Typ 10%--_. l— 0% 1"x4" SLOTS, TOP
27 1ol 1ol 174" SLOTS, TOP 1 | | | A , & BOTTOM OF TUBE
ik o 2 24, & BOTTOM OF TUBE I I d & i
— " Typ. o 2 4l 2 | v/ 1 9J9 —.° ° )&_ _____ 3 _ |
; 4 = | S ARy G | R b L7y =
== L I N i J____ Typ>— (]
el H o °c p U | ! | | vz e 1"x4" SLOTTED HOLES IN
- PLAN EXPANSION SPLICE ASSY
4‘1_{:[ PLAN o/ 1] 1"x4" SLOTTED HOLES IN 4"x1/4"x35" Fill Plate TOP & BOTTOM OF HSS
TYP. Ty TOP & BOTTOM OF HSS (Top & Bottom) 6x6x3/16" (TYP)
41/ X 2 1/8" X 36 . 5x3x1/4" (TYP)* b e * DRILL SLOTTED HOLES
Galvanized Bar | | | | [ g * DRILL SLOTTED HOLES | 2 ' PRIOR TO GALVANIZING
|- B T ] - _ PRIOR TO GALVANIZING , , , ,
| | elevation | ! [ - —
(4) 3/4" Fully Threaded Bolts. 4 12"Long It
EXPANSION BAR SPLICE ELEVATION (ASTM A325, TYPE 1) 2 Washers and a Heavy o ' T
EXPANSION SPLICE ASSY. Hex Nut on each Bolt. Nut to be Finger Tight Typ, ELEVATION ELEVATION \ (4) 3/4" Fully Threaded Bolts.7 1/2" Long
and the First Thread below the nut to be R EXPANSION SPLICE TUBE —_— (ASTM A325, TYPE 1) 2 Washers and a
damaged A.O.B.E.. 4 Bolts at Each Splice. 4'x1/4"x 20" Fill Plate EXPANSION SPLICE ASSY. Heavy Hex Nut on each Bolt. Nut to be Finger
Tight and the First Thread below the nut to be
CITEM # 9 SPLICE TUBE - EXPANSION CITEM # 8 damaged A.O.B.E.. 4 Bolts at Each Splice.
u h adr g S
- — 2
I‘I— —Ll o 2.0} 10}
, 4v_64lvv %
1/2" X 3" SLOT —3— 3 — =M 1 1.
- @1’ HOLES 11 2 . T
| | 3 REQ'D 2 ] o I i
CTYP) T ———1 ====7
5 1! PLAN
{J}} {J:,} {5 v )& _____ FIXED TUBE SPLICE ASSY
5 HSS 5" X 5" X 5/16' @ 2' 3 PLAN —— Centerline of @ 7/8"
_| |_ _| I_ i Galvanized Tube 7, in Top & Bottom of
¥ . 8 HSS 6"x6"x3/16" Tube (Typ.)
TOP VIEW
i | 3 - | I I 4"X1/4"X 26"Fill Plate  / F—mdbeedie=me=dieal=———
_ 1 | (Top & Bottom) | |
I | . L I I I
or & 4 FE M W
“p” | | | | (4) 3/4" Fully Threaded Bolts. 7 1/2" Long
S5/8‘x2* SLOT
3l | /_ x wes 000 |t ' ' ' J ELEVATION (ASTM A325, TYPE 1) 2 Washers and a
u FIXED TUBE SPLICE ASSY.  Heavy Hex Nut on each Bolt. Nut to be Finger
\¥¢ 5/8” (2X) RD Tight and the First Thread below the nut to be
) ) " Eill P damaged A.O.B.E.. 4 Bolts at Each Splice.
” 33" X 5" X 3/8" ANGLE | + + 3k ] 3 ¥"x5'x3/8" ANGLE 4" x 1/4" x 26" Fill Plate ELEVATION CITEM £ T
3k 2’ | | o FIXED SPLICE TUBE SPLICE TUBE - FIXED
r
b |l || 1
FRONT VIEW PLAN VIEW | |
—_ 5
* 10 0 ;
CITEM # 107 CITEM # 1D oo e e @ 5
T y
3.l | f |
— 2 16 5
¢ 1 DRAIN HOL g s T +
(WPS=3007) <TOP & BOTTOM) | | l
(>B-UIVB p=————-= f
ok . L. e - i N 1,, V4 R
2 - - Py oar 3r-
g X 4 sLOT 3
| |~ _| /o s saTToM 3 o 8" END CI:I\/ER PI_ATE DETAIL
5" —|_'EE)-_a£ 5 T T T T
f I — ¢ I T T* | T | .
I 4-4" 1 4§" I —+ I I '{' e Ve "
il . O R 4 I 13r ITEM #: 525.335 F.R. LAFAYETTE, P.O. 27399 | SHEET 4 oF 4
1 1 1 1 r
1] ' " 1. T o1" : .
I 13 o 05 3 SE=s GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET
—_— i - ! PROJECT: BRIGHTON, PROJECT # ER STP 034-3(25), MINOR ARTERIAL, BRIDGE # 84
8 mm%ﬂ— TOWN OF BRIGHTON, ESSEX COUNTY, VT.
3-10" | | CITEM # 16 1 R. Klinefelter J. Salvatori R[NO. [ DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION  |BY]|
107 T?}:f' \,éﬁﬁncgg\ 5 ; O\{ 13" @B 2%) E[ 1 12/26/12 |REVISED PER 12/26/12 EMAIL[EP.| E
| et ! 1 | o1 , 8 February 14, 2013 v[ 2 [1/3/13 REVISED PER 1/9/13 EMAILEP.| V
iy ks syt I e 1, J:i— I DRAWN E.P. 12/03/12
T B } ok view  CTTEM# 1D 15 CERTIFIED
% J \ s/ 3 I 2 |_'|_ 1 Approved ELDERLEE.INC FABRICATOR|| CHECKED | D.L. 12/03/12
" ) , . N
@ 1* HOLE FRONT VIEW e s 4 iqgi 0AKS CORNERS, NEW YORK 14578 APPROVED | . -
(ITEM # & (FRONT & BACK) K. Higgins 02/19/13 F—Mail; dlong@elderlee.com SCALE | SCHEMATIC
| Tel:315—789—6670 Fazx:315—-789-6615 DRAWING NO. F.R. LAFAYETTE BRIGHTON

HSS 5"x5"x5/16" @ 36"



JSalvatori
StructuresShopDrawing

JSalvatori
Text Box
X




